Dare to Try Transformations

1. Complete the following table (no graph).

Equation Transformation in Words / Mapping
y=—(x+2)*+4
y=3 —%x
y=—(4-2x)°-2
y =|-5x+10/+6




2. Complete the following table. Include a graph and the domain and range.

Equation
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ANSWers:

Equation Transformation in Words / Mapping
(% y) > (x—2-y+4)
Reflect over x axis
Left 2
y=—(x+2)*+4 Up 4

(x,y)— (-2x,3y)

Reflect over y axis
HS x 2
VSx3

y=—(4-2x)°-2

(4Y)> (-5 x+2-y-2)

Reflect over x axis
Reflect over y axis
Down 2
HS x %2
Right 2

y =|-5x+10/+6

(x,y)—>(—éx+2,y+6)

Reflect over y axis
HS x 1/5

Right 2

Up 6




Equation Transformation/Mapping Graph
(x,y)— (2x+4,~y-3) N
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